



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{1}{3} + \frac{1}{4}\right)^2 - \frac{2}{3}\left(\frac{1}{6} - \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\left(\frac{1}{5}\right)^2 + \frac{1}{3}\right) \times \frac{1}{2} - \left(\frac{1}{2} - \frac{1}{2}\right)^2 =$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{3}{4}\right) \times \frac{3}{5} - \left(\frac{3}{5} + \frac{3}{2}\right)^2 =$$

$$\left(\frac{1}{5} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{3}{2} + \frac{3}{4}\right)^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{1}{2} + \left(\frac{1}{3} - \frac{1}{3}\right)^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{4}\right) \times \frac{1}{5} - \left(\frac{1}{6} + \frac{1}{6}\right)^2 =$$

$$\left(\frac{1}{2} + \frac{2}{3}\right)^2 - \frac{1}{4}\left(\frac{1}{2} + \frac{1}{6}\right) =$$

$$\left(3 - \frac{3}{2}\right)^2 + \frac{2}{5} + \frac{1}{2} \times 3^2 =$$

$$\left(\left(\frac{2}{3}\right)^2 - \frac{3}{5}\right) \times \frac{1}{3} + \left(\frac{1}{3} - \frac{2}{3}\right)^2 =$$

$$\left(2 - \frac{1}{4}\right)^2 + \frac{1}{3} + 2^2 \times \frac{1}{6} =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{1}{3} + \frac{1}{4}\right)^2 - \frac{2}{3}\left(\frac{1}{6} - \left(\frac{1}{3}\right)^2\right) = \frac{131}{432}$$

$$\left(\left(\frac{1}{5}\right)^2 + \frac{1}{3}\right) \times \frac{1}{2} - \left(\frac{1}{2} - \frac{1}{2}\right)^2 = \frac{14}{75}$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{3}{4}\right) \times \frac{3}{5} - \left(\frac{3}{5} + \frac{3}{2}\right)^2 = \left(-\frac{719}{150}\right) = \left(-4\frac{119}{150}\right)$$

$$\left(\frac{1}{5} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{3}{2} + \frac{3}{4}\right)^2 = \frac{781}{160} = 4\frac{141}{160}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{1}{2} + \left(\frac{1}{3} - \frac{1}{3}\right)^2 = \left(-\frac{1}{8}\right)$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{4}\right) \times \frac{1}{5} - \left(\frac{1}{6} + \frac{1}{6}\right)^2 = \left(-\frac{1}{9}\right)$$

$$\left(\frac{1}{2} + \frac{2}{3}\right)^2 - \frac{1}{4}\left(\frac{1}{2} + \frac{1}{6}\right) = \frac{43}{36} = 1\frac{7}{36}$$

$$\left(3 - \frac{3}{2}\right)^2 + \frac{2}{5} + \frac{1}{2} \times 3^2 = \frac{143}{20} = 7\frac{3}{20}$$

$$\left(\left(\frac{2}{3}\right)^2 - \frac{3}{5}\right) \times \frac{1}{3} + \left(\frac{1}{3} - \frac{2}{3}\right)^2 = \frac{8}{135}$$

$$\left(2 - \frac{1}{4}\right)^2 + \frac{1}{3} + 2^2 \times \frac{1}{6} = \frac{65}{16} = 4\frac{1}{16}$$